PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

23rd July 2016, 09:00 AM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

Frafafea vy & o arde 79§ <l o saawan $3 iR 39@ 91¢ i iy v e # ¥ 999 Suge
3P BT T P
1. Police 2. Punishment 3. Crime 4. Justice 5. Judgment

1. gferT 2. I 3. WRIY 4. YT 5. Uaqd

* 1,2,3,45

3,1,2,4,5

3,1,4,5,2
® 54321
Correct Answer :-3,1,4,5,2

2)
Question Stimulus :-

P,Q, R, S, T, Vand W are seven members of the family. There are three female members.
Each of them has a difference profession-Lawyer, Chartered Accountant (CA), Engineer,
Teacher, Doctor, Architect and Pharmacist. No Lady is either a pharmacist or a chartered
Accountant. Each of them has a different monthly income. The chartered accountant earns
the most. S, the engineer, earns less than V, the doctor. R, the teacher, earns more than P
and less than S. W’s wife earns the least. T is an unmarried lady Lawyer and she earns less
than P and more than only Q. The pharmacist’'s income is not the lowest / P, Q, R, S, T, V
3R W TP TRAR & Id G §, 379 F &9 3R &1 USSP BT U= 3relT F-aPId , TS WP R
(C.A),3if¥ar , Rieiw, siaer, ReusR R iuy fagrar e ot ik sitwer faghar ar 99d a@aR 81 51
S W T TP I IS 3T TP GOR | (AT 8| T AWHR BT T T TSI g1 S a1 B 3 v
Sidey § U g1 R Rige @1 3ma P A wU1GT 3R S A $H g1 W FI Ul B1 3mg & At T sifdarea afgan
IPIA & 3N IYP! 3 P q HH 3R dad Q ¥ WIS 1 vy fathar o1 ema 9ad g 7181 g1

Who earns the least? / J9d4 &H 31 Gl 82

s P

°Q

()



* PorQ

e R
Correct Answer :-Q
3)
Question Stimulus :-

There were 10 fundamental duties of citizens as per 424 amendment. The eleventh one (k) has been added by

which amendment? / 429 TN F AR ARSI & 10 Hifdd Facd A| 11(k) B HT M & gRT
SIST 14T U1?

e 44th /449
d

e 36t/ 86

o goth/ 89a

d

e oond; )
Correct Answer :-86'""/ 86a

4)
Question Stimulus :-

Who are known as the first “empire builders” of India? / HIRd & Ugd "HTHTSY 9414 ardl" & g J P o
SITd &2

® Mauryas / e

® Guptas / Ul

® Vakatakas / ATPICPH

® Nandas / gl
Correct Answer :-Nandas / gl
5)

Question Stimulus :-

Kokila turned 45 degrees right, then 90 degrees left and then 45 degrees right and is now moving towards east. Which

direction she was heading in before?/ﬁmar%ﬁ%%‘ﬁﬂﬁ,m%%ﬁaﬁ{'ﬂ?ﬁ ﬁ?ﬁﬂ’%%‘ﬂ?{l’%ﬁ
3! 39 qd @1 3R 9¢ 31 21 fory o= o ag e o 38t une

©)



® North /3R

® South / Gf&[0T

® East/ R
o West/'qm'q

Correct Answer :-East / [Rd

6)
Question Stimulus :-

Vikas is taller than Sham but shorter than Umesh. Umesh is taller than Rajat but
shorter than Ganesh. If Shyam is taller than Rajat who is the shortest among all? /

T TaTH T a1 & IR IRY A 12T 81 U I5d § 9T g W M0 | F1eT §1 3R TATH I99d 9 o9l 8
o 370 A I 1T B 82

¢ Ganesh /1Tlﬂ'¥l

e Umesh /301

®* Rajat /Icid

* Vikas /faora
Correct Answer :-Rajat /I5id
7)

Question Stimulus :-

A farmer grows 3 crops in rotation — A, B, C. A is grown between the months Jan-June, B between May — September
and C between August-December. Each crop takes 3 months from sowing to harvesting. At a time only crop can be

grown. / T fopar= Frrafira Siad= & 3 BUa ST 8 - A, B, €1 A SIFGEY S W & di4, 8 WS R &
a1 3R ¢ 3T -feiaR & 1 ST SITaT 1 VR BOd U g8 § Helg & 1083 He i oid ¢ | T 90 o
&9 TP B ST oIl el 2l

Farmer starts in the month of January by sowing A. If there is no gap between each crop, when would C be harvested?

éﬁﬁmﬂmﬂmaﬂaﬁ%mﬁﬁﬁwm%wﬁmw%maﬁ%mﬁ%cﬁwrs‘w
* July /e
® August / 3T

® September / IRGESES

® October / STdgd
(4)



Correct Answer :-October / 3[dgdax

8)
Question Stimulus :-

The capital city of Chandela rulers was ./ TG UMRTHI Pt TSI 4t
® Avantika / 3rdfaer
® Orchha / 3BT

® Khajuraho / @w

® Narsimhapur / q?ﬁ'ﬂ%Tﬂ?
Correct Answer :-Khajuraho / TSTE!
9)
Question Stimulus :-

How many times has President’s Rule been declared in Madhya Pradesh? / Uex § fhal aR ?TE'CIﬁ RURE]
T far ar?

® 4times / 4 TR

® 2times / 29X

® Stimes / 5 dR

® 3times / 3 dR
Correct Answer :-3 times / 3 dI¥
10)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / d& fageg ﬂﬁﬂ,\_rﬁ TP DI E® A
TRRTTNFHFIATAE :

If I like the music then I will give you a prize. / 3R gl Wifid Udig 3mar af & ! 419 g |

e If I do not give you a prize then I have not liked the music. / R H arrqﬁéqmq‘é’r
a1 § a1 g3 WIa i e S|

e If I give you a prize then I have liked the music. /anwﬁerrqaﬁs‘qmamﬁa’rg'@rwﬂ?r
TG 3|

(5)



e If the music is sweet then I will like it. / 3R TG AR T O § I Wig &

¢ I always give prize after listening good music. /ﬁ?ﬁ'&'ﬂ G@mﬁﬁ?ﬁa?aﬁﬁm
ST gl

Correct Answer :-If I do not give you a prize then I have not liked the music. / 3R |
STUPT §ITH 6! odl § of Yo TId G a8l STl

11)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / g fageu ﬂﬁﬂ,\—:ﬁ a® ol e A
TR e s S HAE 7

If the train is late then I will come by taxi. / 3R 3=r dc g # il T I

o If the train is not late then I will not come by taxi. / SR aﬁﬁfﬂﬁ%?ﬁ AR A =|€r
ST

e If the train is not late then I will come by taxi. / 3R aﬁﬁiﬂﬁ??ﬁ # AR A S

e If I come by taxi then the train must be late. / R # TRA A arar 'ff?ﬁ ﬁwﬁt

il

e If I do not come by taxi then the train must not be late. / 3R AR A q‘eﬁ ST f?ﬁ

3 de 78 g

Correct Answer :-If I do not come by taxi then the train must not be late. / 3R x|

<t | EY o § df ¢ die 8 gt

12)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 9§ IGEg f{ﬁT{

it 3T 7T U Td el F TR § T R
Statements: / PY:

Some coins are notes. / $© Riad e Tl
All notes are papers. / I 9ic F1 &l

Conclusions: / e

I. Some coins are papers / I. P9 Rygd wrTe %

II. All notes are coins / II. 91 Fic RaP &
® Only conclusion I follows / ad f~rewY 1 fererdr T

(6)



® Only conclusion Il follows / Wﬁwﬁf nfereadn %

® Both conclusion | and Il follows / <11 f-sd 1 3 11 FHrad %

® None of the conclusion | or Il follows/ﬁwﬁf IATII® q aﬂ_‘:{ 7‘|€r Freaar %
Correct Answer :-Only conclusion | follows / Fad ey 1 Aeadr %

13)
Question Stimulus :-

Telangana became the ___ state of India. / GGG _ HURAd PIRTSA I T
o 29
o 25th
o 27
o 30
Correct Answer :-29"
14)

Question Stimulus :-

Who has been honoured with Kalidas Samman for 2012-13? / 2012-13 ¥ S1fergry IWTH I foae! awmifa
fraT T U1

® Dr. Keshav Rao Musalgaonkar / ST. $IG TG b: L GRIGE
* Anu Malik / 3] ATl

® Anuradha Paudwal / SIT[RTHUT qrsara

® Mohan Maharishi / 'Fﬁ?ﬂ' 'q?ﬁf

Correct Answer :-Dr. Keshav Rao Musalgaonkar / ST HRE WW

15)

Question Stimulus :-

Who is the first woman Indian Police Services officer? / HIRd 1 Ugell AigaT HRA T HF(’RT gfda fwiaR
B §?

® Kiran Bedi / fAI0r 9}

(7)



® Merin Joseph / Afe W

® Kanwaljeet Deol / Hadeitd a'\’rhﬁ

® Meera Borwankar / HiRT SiRai®R
Correct Answer :-Kiran Bedi / fov0r 9}
16)

Question Stimulus :-

In the Bay of Bengal, there are islands in the north-south directions / STITEl 1 WISI DI, ITR SI&0T

fezmafi & _ fiu gl
® Lakshadweep / Aq&AGT
® Minicoy / [ERIEZR
* Amindivi / 3TN
 Andaman and Nicobar / USHT 3R fA®IaR

Correct Answer :-Andaman and Nicobar / 3(USHTT 3R fFHIaR

17)
Question Stimulus :-

Arun says, ’Mithun is the son of the father of the mother of my daughter” How is Mithun related to Arun? / 3%+

oeal o, ‘YA, 78 TR 9 91 & far &1 @71 31 frye, o 9 frw ueR wefta &2
® Nephew / HdISIT
* Brother / HTS
e Uncle / dTET
e Brother-in-law / |TEl

Correct Answer :-Brother-in-law / Tl

18)
Question Stimulus :-

The eastern most point in India is / YA & Qﬁ?l'q ﬁ’g ?:

® Indira point / gfesT 'CI"I’EE'

(8)



® Indira col / 3'%?[ G|

* Kanyakumari / B-OTHHNI

* Kibithu / fpfay
Correct Answer :-Kibithu / f&fay
19)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg o g‘ﬁt{
it 3T U Syl wd Frepul & ar | w9 81

Statements: / ®Y-:

No machine is a gun. / &1 Wi sg& 781 21

No gun is a ball. / I3 sg® g 7¢I 3|
Conclusions: / e

I. No ball is a machine. / I. &g 7ig A= T8I 21
II. No machine is a ball. / II. ﬁ'é‘ RIE ﬂ?qﬁél

® Only conclusion I follows / aﬁﬁ ﬁ'WT'Sf I fAropaan %

® Only conclusion II follows / W foreed 11 Froaar %

® Either conclusion I or conclusion II follows / aT oY forsswt I a1 fip= Foreadf 11 fAparan %

® Neither conclusion I nor conclusion II follows / < at ﬁrsawf I Freadan % Bﬁ? -1 a ﬁ'@ﬁf I1

Correct Answer :-Neither conclusion I nor conclusion II follows / T dl forspd I foradr % 3R A éT
freed 11

20)

Question Stimulus :-

Where did Buddha preach his first Sermon? / STgt & J 3(7ET Ygdl mﬁtﬂ UYr1?
* Allahabad / TATGIEIG
® Varanasi/ GRTORI

® Mathura / HYRT

® Sarnath / IIRATY

©)



Correct Answer :-Sarnath / 9IRAIY

21)
Question Stimulus :-

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / <9 u% ﬁ, TR Teg fod

T §, R & i 5l yoR @ 99T § SR 911 U 3T | SIERT aTel 1 $iford |
e Red / @Td
e Paint / Uc
e Green /&I
* Yellow / dar
Correct Answer :-Paint / Uc

22)

Question Stimulus :-

The figure at right represents an unfolded box with designs on several panels. Below are four drawings of boxes with

designs. When folded, which box will it be? / &1 3R STHTd fafis 99l w feeme=i & ary famn a8 fean
T I feardt 8] = fewms ard 9a9 3t IR ST §] Wits 34 W, S T 9991 gI?

-
Y
Ay

(10)



Correct Answer :-

23)
Question Stimulus :-

Sardar Vallabhbhai Patel National Police Academy is located at J/ IGIR de Yy ¢n€ T-I%FRTQ’W Hﬁlﬂ 3[PTCHT
gl R 31

] Bangalore/é""l?ﬁ'\r
® Hyderabad / %HTIE’IE
® New Delhi /Hﬁﬁﬁ
° Nasik/Tﬂﬁtlﬁ
Correct Answer :-Hyderabad / 3ERT9TG

24)

Question Stimulus :-

Pre-historic caves of Bhimbetka was discovered in . Wiaes ot tﬁfﬂﬁ?lﬁ:ﬁ? '{Itb_[&ﬁ Pt Gt T
gs A

® 1957

® 1943

e 1951

® 1949
Correct Answer :-1957
25)

Question Stimulus :-

Which of these animals is NOT found on the state emblem of India? / -1 STHeR] A § $IF HRd & 34 Ud i
W T 72

® Elephant / ET?ﬁ
® Tiger /dTd

e Bull/ IS

(11)



® Horse / H-']_{-'JT

Correct Answer :-Tiger / 919

26)

Question Stimulus :-

Six people A, B, C, D, E and F are sitting on the ground in a hexagonal shape. All the sides
of the hexagon so formed are of same length. A is not adjacent to B or C ;D is not adjacent
to C or E; B and C are adjacent; F is in the middle of D and C. / ©: @ A,B,C,D,E 3R F 59

R TCHINT PR H ¥ 81 BT & Tt Yomal 3 e T TSI BACHF A H A eI §; CATE
FTAADINE; BIRCTAHE; DR CFH dF 2l

Who is placed opposite to E? / E & Audld ®IF &R &9 82

Correct Answer :-F

27)
Question Stimulus :-

Harappa was discovered by / ST &1 el___ gRT &I 15 H{
® R D Bannerjee / 3RS SIS
* DayaramSahni / SIRTH HIg!
® A O Hume /T 3l g9
© AV Alexander /T & TAd0SY

Correct Answer :-DayaramSahni / GdRTH qrgt

28)

Question Stimulus :-

“Economic History of India” was written by / "Eﬁqﬁiﬁﬁ %Fff Gﬁtﬁ s"%'m" & AP %
® Dadabhai Naoroji / E'IET‘J-IT'&F q'l'ﬁ'ﬁﬁ

* RC Dutt / 3RE! &
(12)



* A O Hume /T.3fl. §OH

* MG Ranade / TH Sl TS
Correct Answer :-RC Dutt / 33! g1
29)

Question Stimulus :-

Sita Marhi group of temples are located in g f ?ﬂ?qu?r HfeRl &1 qHqg ¥ Ry %:I

° Bhojpur/“-ﬁﬁfﬁ?

® Chanderi /T3t

® Karanpur / OIAYR

* Mandla/ HSdl
Correct Answer :-Chanderi / e}
30)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe ﬂ‘ﬁt{
Wil foT 7T Byl wd Frewul & TR A G€ gl

Statements: / PYU:

All lions are tigers. / I AR 91" '%'I
Some tigers are birds. / $© 919 U&h §1
Conclusions: / fAwpd:

I. All lions are birds. / I. 9% 2R ueh &

II. Some birds are lions. / II. $© Uel I &l
® Only conclusion I follows / W foreed 1 IECNGI %
® Only conclusion IT follows / Fad ey 11 Rrpaar %
® Either conclusion I or conclusion II follows / IT di frswd 1 a1 fpv fAswd 11 fFrpardn %
® Neither conclusion I nor conclusion II follows / ¥ ot e 1 Freaan % Gﬁ? T é’f forepd 11

Correct Answer :-Neither conclusion I nor conclusion IT follows / < T‘ﬁ' ﬁwcf I ﬁlﬁl?ﬂ % GﬁT G 'ep[
s 11

(13)



31)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / d& fape gﬁnz, S a9 Bi HiY
¥ i feT 7T F99 F GuE B

If the TV is on then Amit will switch off the radio. /Iﬂ%ﬂiﬂ?ﬂq%?ﬁ 3ifira Y&t 9 o |

e If the TV is not on then Amit will not switch off the radio. /ﬁﬂﬁmqﬁ%ﬁ 3fra
IfsTT 9 T8 M|

e If the TV is off then Amit will not switch off the radio. / afe &4l i g a1 3iftra Ysal ag
T8I B
e If Amit does not switch off the radio then TV must not be on. /?T% Gﬁﬁmaﬁ:ﬁﬁ

FA1 g i Erdt AT Al g Anfeu|

e If Amit switches off the radio then the TV must be off. /Tlﬁ Gﬁﬂmﬁm %Tﬁ

&rat | g Tnfeul

Correct Answer :-If Amit does not switch off the radio then TV must not be on. /Ifg

e YAt dg T Fwar § a1 At Trg Adl g Arfeu

32)
Question Stimulus :-

A farmer grows 3 crops in rotation — Rice, wheat and Jowar. Rice is grown between the months June-Nov, wheat
between Feb — July and Jowar between Oct-March. Each crop takes 3 months from sowing to harvesting. At a time only

one crop can be grown. / T o= FFrafTa siad= # 3 wrd ST 8 -91ad, g SfR SR | Irad oH-"da%
eI & i, BRadt 3R qars & S g, g ar-ATd & s SR | TS BOd A gaTs 9 Hels & ¢ 3 T8
A € | Uh AT A Pad b BHA Y oIl IPal 2

If the farmer wants to sow Rice in the month July, what is the latest month by which wheat should be sown? / ?T%

fpaT= Jars & WE_ o arad a1 =redr 8, a1 e Tdaw 9EA a% Ag ST S e
® February / BRA3]
* March /HTd
o April / 30d
* May/WE

Correct Answer :-April / 3[0d

33)

(14)



Question Stimulus :-

Who is the CEO of NITI Aayog? / Ifel 3ITINT & YT SriuTers Siftert 3t .3.80) dI 82
e Amitabh Kant / STFHATH &id
® Arvind Panagariya / 3Rfdg gArTITRaT
* P K Sinha/ Yt% g1
* Jayant Krishna / STGd G0N

Correct Answer :-Amitabh Kant / 3fUdTH &id

34)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / Frouy ﬁ, T-I_E!@f a 1ZI?.Pf & o= foht
TR A FIs oo 3] 7 fawent & I @tar e g~ e AW ug & a1y 3 ueR &1 9y 3|

Parrot: cage :: Man: ? / CIGIRRLGRAET M :
® Home / U}
* Life / Sitad
® House / HBTH
® Prison /@FI'
Correct Answer :-Prison / 5l
35)

Question Stimulus :-

Jhumar is a dance form of this State. / SJHY T I G| I B %:
® Gujarat / eRRTd
® Punjab / YoITd
® Haryana / Eﬁ'qTUIT
® Assam / 3HH

Correct Answer :-Haryana / §QTUN

(15)



36)
Question Stimulus :-

‘Stone’ is related ‘Hard’ in the same way as ‘Feather’ is related to / "UR’ TR g ‘o 9
N THR ¥ R e v JElE § 39

* White / TbG

e Bird / FafSaT

* Soft / GATUH

® Fly / S
Correct Answer :-Soft / dIaH
37)

Question Stimulus :-

N runs faster than P, R is slower than L and N is faster than G. Who is the slowest? / P I oS N a:"»_(n %, L3 i

RTA G ¥ a9 N gredr 31 Iad Sir & g2

® Cannot be determined / fRIua 8T foraT ST Twpar|

Correct Answer :-Cannot be determined / IGEIEG] T8I fHaT oI Iopdr|

38)
Question Stimulus :-

If bad implies going north, and its bad, then it's not going north. / gfe TWRE T arzf%wﬁ
3R SHT, 3R I8 TR g, d g SR B 3R g1 o 387 B

e True / Jg!
e False / Tdd
e May be / B I&d1 g

e Irrelevant / TS

(16)



Correct Answer :-False / Tdd

39)
Question Stimulus :-

Which of the following is NOT a major bauxite producing centre in Madhya Pradesh? / o d Q@ v v o1
HI4 T UeR I19TSC SqUTGH PR 1Al TG $g 8] 82

* Shahdol / XESTA
® Satna / Hd-Tl

® Rewa/3dl

® Ratlam / Id¢TH

Correct Answer :-Ratlam / IddlH

40)

Question Stimulus :-

The first newsprint paper mill in India was set up in / HIRd | UGl SR SIS TR i q%\f??-ﬂﬁ?f 4|
T} -

e Andhra Pradesh / 3T 'FI%QT
® Madhya Pradesh / H& U%QT

® Maharashtra/ HeIRTY

® West Bengal / ¥ Se

Correct Answer :-Madhya Pradesh / AT Ua=T

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

Two dice are thrown simultaneously. The probability of getting a total of 10 is / E’f ury W'\‘IT'«’I%TK{I C2l
HUTIAT § TRAT3H BT Fa 10 STA?

° 1/4
* 1/6

* 1/12

(17)



® 1/9
Correct Answer :-1/12

2)

Question Stimulus :-

A can do a work in 12 days and B does the same work in 15 days. In how many days they together will do the same
work? / AfFfi el 12 d R Ipar e iR s A 15 R A R Iwar g | @
Il U A1y foha el & St &1 & |1 ®ée

° 6days/6ﬁ7‘l

3
* 6 days/6 fiA

| b
W k2

e 6 days/ 6 ~faa

1

¥ ‘
® 6 days/ 6 fea

| —

e | 2
| k2

%]

Correct Answer :-6 ~days / 6 ~ f&

3)
Question Stimulus :-

What is the minimum number of straight lines needed to build the following figure? / a

AP B T & O Yaaw F=T | fFa-t dreht J@nsii &t sraxadwdr gii?

(18)



® 10

* 9
Correct Answer :-10
4)
Question Stimulus :-

Find the average of all numbers between 10 and 50, which are divisible by 6? / 10 3R
50 & 9 & gt TGEmait @1 siya i, oY 6 ¥ faursa € 2

e 28
e 30
e 32
e 34
Correct Answer :-30

5)

Question Stimulus :-

p—g_4 p-g_4
¥ ¢ 7 thevalue of p:qis/ afg ¢ > G p:q PTHHE &
o 7:3
e 8:3
e 5:3
e 3:7

Correct Answer :-7:3

6)
Question Stimulus :-

In the sequence shown below, which figure comes next? / -9 fRER T H9 # SFTT MH T
®I A gri?

(19)



1

o |
| H
Correct Answer :-‘H

7)
Question Stimulus :-

The value of 1P ,is / 10p , T a8
® 100
® 80
® 90
® 95
Correct Answer :-90
8)

Question Stimulus :-

A car starts with a speed of 60 km / h with its speed increasing every one hour by 5 km/h. In how many hours will it

cover 435 kms ? / U PR 60 fopel/der & Ta=1 URY St §1 Uaqa® e | sq@t i 5 feei/der 9¢ w31
435 foprt Y &Y a9 B | S Topae 6 @i

(20)



® 4hrs/4%¢
® Ghrs/6Hc
® 7hrs/7H¢
o 5hrs/5‘€i%

Correct Answer :-6 hrs / 6 ¢

9)
Question Stimulus :-

Half of 5 percent written as a decimal is/ 5 ufawrd & Y &1 RILE H 9 foran SITET
® 25
® 0.25
® 25
® 0.025

Correct Answer :-0.025

10)
Question Stimulus :-
In a certain code language, You are good means Lu Le La; They are players means Le Ne
Me; He is good means La Si Su. Which is the word for Lu in that code language? / ot @™
PIS HIUT ff, You are good T Hddld % Lu Le La; They are players &1 Hddd % Le Ne Me; He is
good FT HAAd § La Si Su | 39 B8 HIN # Lu & e =7 9Ies 82

® Good

® They

® He

® You
Correct Answer :-You
11)

Question Stimulus :-

(21)



A fruit seller purchased 20 kgs of apples at Rs. 8 per kg. He found 5% of the apples to be rotten. If he
sells the remaining apples at Rs. 11 per kg, what his gain percentage? / ¥® ¢l faspar 7 8 U ufe fopat
¥ 2T @ 20 fHamy A9 TS 81 3T 3@ Pt 5% A9 TS g &1 98 11 34 ufa el & fewme 4 Aw
AT 87 AT 7, ITqBT ATY Ufa=Ia = gem?

®* 30.625%

® 40.625%

* 50.625%

®* 60.625%
Correct Answer :-30.625%
12)

Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination. / & & TE saen sert TE TS BT SIHH WART HRdl 8| Ted HASH dgar-d|
(i) KS26413902RUO

(ii) KS26473902RU0

(iii) KS26413902RU0

(iv) KS26413902RUO

® j

® jv
Correct Answer :-ii
13)

Question Stimulus :-

In a certain code SIKKIM is written as THL]IL. How is MANIPUR written in that code? /
fpdt @ FIs §, SIKKIM &1 THLIIL forRar ST 8, 91 39 &I # MANIPUR 9 9 forar SRm?

¢ NZOHQTQ

e NZOJQTQ

(22)



¢ NBOHQTQ
e NZOHQTS

Correct Answer :-NZOHQTS

14)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ T 33 T aR ual § 9 R Y T ud & St THE S 91 T T8 82

At. Sr. Hiro Gordo-Globo
Sumo Informatica S.A.
Calle 39 No 1540
B1000TBU San Sebastian

ARGENTINA

(i) At. Sr. Hiro Gordo-Globo
Sumo Informatica S.A.
Calle 39 No 1540
B1000TBU San Sebastian

ARGENTINA

(ii) At. Sr. Hiro Gordo-Globo
Sumo Informatica S.A.

Calle 39 No 1540

B1000TBU San Sebastian

ARGENTINA

(iii) At. Sr. Hiro Gordo-Globo
Sumo Informatica S.A.

Calle 39 No 1540

(23)



B100TBU San Sebastian

ARGENTINA

(iv) At. Sr. Hiro Gordo-Globo
Sumo Informatica S.A.

Calle 39 No 1540

B1000TBU San Sebastian

ARGENTINA

® ii

® jv
Correct Answer :-iii
15)

Question Stimulus :-

In a certain code, VICTORY is written as YLFWRUB, how is SUCCESS written? / f&t
WY ®I€ #, VICTORY &I YLFWRUB feRar Srd1 8, @ 39 $Is § SUCCESS &1 &9 forar Sram?

e VXEEIVV
e VXFFHVV
e VYEEIVV
e VYFFHVV

Correct Answer :-VXFFHVV

16)
Question Stimulus :-

In a certain code language, I am hungry means Ching Ling Lu; I eat fruits means Ling Li
Mon; I am thirsty means Lu Su Ling. Which is the word for Am in that code language? /
5t @ w5 YT §, I am hungry &1 Wded 8 Ching Ling Lu; I eat fruits &1 Adad § Ling Li Mon;
I am thirsty &1 Hdad § Lu Su Ling | 34 &8 UM # Am & T =7 9iss 82

(24)



® Ling

® Ching

® Ju

® Li
Correct Answer :-Lu
17)
Question Stimulus :-

Complete the series choosing the missing nhumber: / ﬁﬁ'l?r ST gD Edl aﬁI\’T PIfOT -

20,19,17, ,10,5
* 12
°* 13
° 14
® 15
Correct Answer :-14
18)

Question Stimulus :-

A number consists of two digits whose sum is 8. If 18 is subtracted from the number, the

digits are reversed. The number is / T% TSI gl 3Pl T fAa®? 941 & PE®1 9 8 3] Il G # A
18 TeT faur 9, < i Iepfid 81 Wi §] T=T 8

® 62
e 71
e 53
® 380
Correct Answer :-53

19)

Question Stimulus :-

(25)



Complete the series choosing the missing letter/s: / faTjGT &R gAdR STdr i T aﬂﬁﬂ' ta_b_aab_a_bb
® abaa
® abba
® baab
® babb

Correct Answer :-abba

20)

Question Stimulus :-

A shopkeeper brought 6 tons of wheat & sold 4.7 tons out of it. How many kgs of wheat has he with him

now? / T% PR A TIg P 6 &1 TRIGT 3 3R SR W 4.7 &7 39 f3an| 3@ 39 o fpa foratuma A5 82
e 130 kg / fpaumH
e 13 kg / fparumy
e 13000 kg / fFarmH
e 1300 kg / foretuma
Correct Answer :-1300 kg / foreiums
21)

Question Stimulus :-
In a certain code language, I love cricket means Liv Da Bin; I love music means Bin Liv Zo;
I play music means Zo Bin Na. Which is the word for Cricket in that code language? /
W H18 UMW H, I Jove cricket &1 Wddd § Liv Da Bin; I love music %1 9ddd § Bin Liv Zo; I play
music &1 AdAd § Zo Bin Na| I ®Is HTWT H Cricket ¥ forg &1 71t 22

® Liv

® Da

® Bin

® Zo

Correct Answer :-Da

22)

(26)



Question Stimulus :-
CANCELLED

A train moves at the speed of 50 km hr. What is the speed of the train in meters per second? / Uh aT'T 50 fodY ufa

e F 1fa A Tad! 31 Hiex ufa Abs & 9 & 7fa «ar ghfiz
e 14 m/sec / 14 Hi/IAHE

\O| —
o —

* 14 m/sec/ 14 Hi/Abs

1 1

* 143m/sec / 14 Hi/AdHe

e 14 m/sec /14 Hi/qds

1

=]

]
Correct Answer :-14 m/sec/ 14 Hi/IdFs

23)
Question Stimulus :-

-4-9-33-44-75 =?
® .165
® 175
® 185
® 190
Correct Answer :--165
24)
Question Stimulus :-

Complete the series choosing the missing number: / AW TBT TAHY H@AT BT T BT :

5,9,17,29,
° 45
° 40

® 50

(27)



° 42
Correct Answer :-45
25)

Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁ"?‘f &R AN SRl Bl T Tﬁﬁt{ ta_bbc _aab _cca
_bbcc

® bacb
® acha
® abba
® caba

Correct Answer :-acha

26)
Question Stimulus :-
15% of 60% of 1,000=? / 1,000 & 60% T 15% =?
® 90
® 100
® 120
® 60
Correct Answer :-90
27)

Question Stimulus :-

3

There are 500 students in a school. 2> of them are sick &

3
How many are present in the school? / T& fAam@g § 500 3 & STH A 2° TR T R ITH A

v,_,t-.|-—~

of them are away on a tour.

—

5 WA | R & fead SurRE 82
e 240

(28)



® 340

* 140

® 440
Correct Answer :-340
28)

Question Stimulus :-

A person reaches his garden on travelling 2z km. He then travels to his friend’s village
located at a distance of 5z km. The total distance travelled by him is / T& 3IgHl 2z fHHl
T I & 916 HeH & ugadr g fihR 98 1= I & 7T &Y 911 &l © il 5z fortlt &) gft w* R@
€| U GRT 97 B T3 P gil §

e 5z

* 62

* 7

e 7z
Correct Answer :-7z
29)

Question Stimulus :-

In the following qpestipn, one term in the number series is wrong. Find out the wrong
term. / A9 Uy #, =T 4@ A TP US TAd €| TAd US JId Bl

3,7,15,30,63,
e 30
* 63
® 15
° 3
Correct Answer :-30

30)

Question Stimulus :-

(29)



Two dice are thrown simultaneously. What is the probability of getting two numbers whose product is odd? / ?(Pf q'l'\q

T 1Y B Y| &Y T o=t om fauw g, 3 1 SuTa=T & 32
* 3/4
° 1/4
°* 1/2
* 1/6
Correct Answer :-1/4

Topic:- Science and Simple Arithmetic

1)
Question Stimulus :-

The following table gives the sales of Drinks manufactured by a company over the years.
Study the table below and answer the questions that follow: / i@ &t 7 ARl fFf Hu-t grr
o auf & Sanfea 3o & fawa &) gxifdt 81 R & 75 IRt &7 i Y iR TR R uM FTsw E -

Number of different types of Drinks sold by a company over the year(in thousands) / Eﬂfa'ﬁf
F IRE HU gRT AT voR & 1u & {epy o1 9@ (39R! )

Year/ |Pepsi/ Miranda/|[Fanta/|Coke/ |Sprite/Total/
Y Orl [BR=T o e SR [$d

2002 |75 1144 114 (102 (108 [543 |
2003 90 126 102 |84 126  [528 |
2004 |96 114 75 105 (135 [525 |
2005 [105 |90 [150 |90 |75 510 |
2006 [90 175 [135 |75 (90 465 |
2007 [105 |60 165 |45 120 495 |
2008 115 |85 160 [100 145 605 |
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what was the approximate percentage increase in the sales of sprite in 2008 compared to that in 2002? / 2002 @I

I | 2008 W T1ge 3 faspt & gig &1 ufa=ma awmueT fan unr
* 28%
* 31%
® 33%
* 34%
Correct Answer :-34%
2)

Question Stimulus :-

Grandmother makes wine by mixing fruits, sugar, wheat and yeast. She closes the jar tightly to ensure the quality
of wine. Can you find out the reason? / &Sl 7 Wal, XFHR, g SR WHR HI FAfSa H3& a5 g1 | 91854
@1 UrGET I JHYT FA & T 98 38 TR A B 9 HR <l &1 T 3T FHDT SR gdT Hd 82
® Yeast respire anaerobically to produce alcohol /Eﬁﬂﬁﬁ & frtor & fore @R Sraradia §+ Hear H
® Wheat breakdown to form alcohol / Qﬁﬁ'ﬁ I & ﬁ'q ﬂEv;E‘cIT %
® Yeast respire aerobically to produce acid / 31 & frior & fore @ik arrdta e wan g
® Sugar breakdown to produce acid / 3%1 & i & m Yah ;E?ﬁ %

Correct Answer :-Yeast respire anaerobically to produce alcohol / Eﬁ'ﬁ?ﬁ ¥ i & m TR
ARG 4T AT &

3)
Question Stimulus :-

The simple interest accrued on a sum of money at the end of four years is 1/5'th of its principal. What is the rate of
interest per annum? / T% YFRIIRT R TR 99 & 3id § 3ifSfa ATemor sars 39& qaes & 1/5 o 21
wfrad =T @t &% T 72

® 5%
® 6%

* 7%

4%
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Correct Answer :-5%

4)
Question Stimulus :-

The various components present in the jelly like substance present between the cell

membrane and the nucleus are / fIf¥T gc® S Sell UPR & el # ST Brel ok F=e & d=
SUfRI Ed &

® cell organelles /aﬁf?zwr 3T
® nucleolus / W

® chromosomes / J[UIRTA
® nucleoplasm /W

Correct Answer :-cell organelles/'éﬁﬁs’liﬂ 3P

5)
Question Stimulus :-

The following table gives the sales of Drinks manufactured by a company over the years.
Study the table below and answer the questions that follow: / 12 &t 78 IRvi foreht Hu=t grr
g auf #f Iafed 9w F fawa &1 axiiat 81 = & 7 IRt &7 rumE ¥ iR TR R usi F1IW S -

Number of different types of Drinks sold by a company over the year(in thousands) / Q:Ufil'ﬁf
F IRME $U gRT AT UPR & 19 & fIpy 1 I=I (89RI #)

Year/ |Pepsi/|Miranda/[Fanta/|Coke/ |Sprite/[Total/
s o [@le  [WEe  [$d
2002 |75 144 114 (102 108 [543 |
2003 [90 1126 102 |84 126 |528 |
2004 96 1114 75 105 (135 [525 |
2005 [105 |90 150 [90 [75 510 |
2006 [90 75 135 |75 90 465 |
2007 |105 |60 [165 45 120 1495 |
2008 115 |85 160 |100 (145 |605 |
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The total sales of all the seven years are the maximum for which drink? / G4} 9T qut &t oA fawt fPada &
feore arftrepaw &2

* Pepsi / Ut

* Miranda / ff¥=sT

e Fanta / el

* Coke /®DI®H
Correct Answer :-Fanta / %l
6)

Question Stimulus :-

Pick out the non-luminous object from the options below. / = fau ¢ faweul # IR THHSRI
I DT IIT Difolg

e Sun ;/ i

e Moon / T&HI

e Stars / R

* Electric Bulb / il &1 aew
Correct Answer :-Moon / TgHI
7)
Question Stimulus :-
A tangent touches the circle at ./ TP TR} ¥@T g B R Wl Bl gl

* one point / T fdg

® the centre point / $g fig

e 2 points / @ Figan

(33)



® infinitely many points / 3~ ﬁ'g'\?ﬁ
Correct Answer :-one point / Wﬁg
8)

Question Stimulus :-

5
Ois a /

=YL

TH gl

® positive rational number / YATHD oAy J@=Im

® neither positive nor negative rational number / =T T YATHS AT & BUMTHP URHT JSAT
® negative rational number / BUTHD Ui J@=

® cither positive or negative rational number / YT I YFTeS 1 o BUTHS T=IT

Correct Answer :-neither positive nor negative rational number / T I ¢FTHS AT & BUTHS TRAT
&=

9)
Question Stimulus :-
Burning of fossil fuels causes / Siareq EF'EFT &I \_rl?lﬁ ﬁ
® Depletion of ozone layer /GhTrﬁT{ U BT {d&d EﬁT'IT %
® Global warming /ﬁ%ﬁqﬂﬂ didshH @'dT %
® Melting of polar ice caps / gahﬂ feu=se TeH 'Eﬁ?IT %
* Both B and C / B 3R C gHl
Correct Answer :-Both B and C / B 3R C gl
10)

Question Stimulus :-

The following table gives the sales of Drinks manufactured by a company over the years.
Study the table below and answer the questions that follow: / 2 &t 7 arufi f&f Hu-t grr
5w auf & Sanfed 9a & fawa &) gxifdl g1 - < 718 IRl &7 sreae o R AR R usi T IS -

Number of different types of Drinks sold by a company over the year(in thousands) / Eﬂf?ﬂf
P SR HU gRT fAfiT voR & 9 & Ay &1 T=IT (oR! H)
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Year/ |Pepsi/|Miranda/[Fanta/|Coke/ |Sprite/[Total/
Y Ul RS o Pl @R @

2002 |75 1144 114 [102 (108 [543 |
2003 |90 1126 102 |84 126 |528 |
2004 |96 1114 75 105 [135 [525 |
2005 [105 |90 150 |90 |75 510 |
2006 |90 75 135 |75 90 465 |
2007 105 |60 165 |45 120 1495 |
2008 115 |85 160 [100 145 605 |

In the case of which drink there was continuous decrease in sales from 2002 to 2007? / o ta &) fast & 2002 @

2007 % FRaX ST 3wt

® Sprite / "HIIgC

® Miranda / et

® Coke / Cacy

* Fanta/Wel
Correct Answer :-Miranda / faR=r
11)

Question Stimulus :-

Which layer protects us from the harmful UV rays of the sun? / DI A WRa g0 ?I‘fib"f
BINPRS WRISTH! fheol § Furt 8

® Mesosphere A L0 i)
® Ozone / KITIGH

® Troposphere/ ety Hed
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® Atmosphere / aqusﬁ
Correct Answer :-Ozone / 319
12)

Question Stimulus :-

The muscular tube through which the stored urine is passed out of the body is called, /ﬂ'i'\‘lﬂ'&l"ﬁ Cd| Tﬁ'ﬁ, INRED
AT | YULH T IRR A 9163 fohaT Srar 8, 3 Fed © -

* Kidney / 94, &l
* Ureter / TATail
® Urinary bladder / WARM™

® Urethra / H?I’H‘I’lf

Correct Answer :-Urethra / TAURT

13)

Question Stimulus :-

What should be done to control Noise pollution? / &~ UgWUT B FFfd w1 & g wm == afgw?
® Automobiles should use effective silencers /lﬁa-amﬁ B YHTIRITH IIRMHPS TIRT HIAT EIT%T{
® Trees should be planted along roads / ﬂ@ibaf ¥ fpamre q4 GUIE] ﬂ'l'%"{

® Use of loudspeakers & loud music players should be restricted /m?,svﬂmﬁ' Td TR IUT P ardd I
qre®d| @l Ufaafed He-l dey

® All of the above / SWRIad 9+

Correct Answer :-All of the above / SURIad I

14)
Question Stimulus :-

The following table gives the sales of Drinks manufactured by a company over the years.
Study the table below and answer the questions that follow: / 2 &t 7 ARl fFf Hu-t grr

g auf ¥ Ianfed 9u & fawa &1 gxiiat 81 e & 7 arult &1 sremE oY ok R R wsi F1IW S -

Number of different types of Drinks sold by a company over the year(in thousands) / Eﬂf?ﬂf
F TR $U gRT AT UeR & 19 & Iy 1 I=I (B9RI )
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Year/ |Pepsi/|Miranda/[Fanta/|Coke/ |Sprite/[Total/
ay Ut R o ple @R @

2002 |75 1144 114 (102 |108 [543 |
2003 |90 1126 102 [84 126  |528 |
2004 |96 1114 75 105 (135 [525 |
2005 [105 |90 150 |90 75 510 |
2006 |90 75 135 |75 190 465 |
2007 105 |60 165 @45 120 495 |
2008 115 |85 160 (100 (145 605 |

The percentage of Pepsi sold to the total number of drinks sold was maximum in the year?

/ T Y U B pa T A A 75 Uwlt &1 ufowe | few af A siftean ur?
* 2004
* 2005
* 2006
* 2007
Correct Answer :-2007
15)

Question Stimulus :-

The perimeter of a parallelogram with length ‘I’ and breadth 'b’ is

/ TF U@ gy ol @@ 17 iR TSTs ‘b’ 8, SUHT URHIT §

* Ib

® 1+b

e 2(+h)
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® 1/2(1+b)
Correct Answer :-2(1+b)
16)

Question Stimulus :-

What is 75% of 75% equal to? / 75% T 75% fpad THTT 82
* 9/16
* 16/9
e 3/4
e 9/4
Correct Answer :-9/16
17)

Question Stimulus :-

Which of the following is NOT a conductor of electricity? / 719 & & DI ﬁgq_d P AP 51 82
* Acidified water / (%I STa
® Tap water / ¥I¢T I Sl
® Distilled water / ST d SI¢l
® Salt solution / Ul fae=

Correct Answer :-Distilled water / 3ITJd STd

18)
Question Stimulus :-

Fisher men who eat enough sea_fish will not usqally become @hyroxine deficient .Give
reason / UZ3R Rl wafe e # s woedt @Rl § sk IR 390 YRR 1 w3t 78) gl 21
PRI TdI¢

® Sea fish is a good source of iodine /'\‘Tﬁﬁ S TSI BT Th 331 d %

* Sea fish contain thyroxine / Tl USdl & YRRIfRH gla1 8

® Sea fish is highly nutritious / Wﬂﬁ Aol e qifdes gl @
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® Sea fish contain more salt /'\q'ﬂﬁ oot A Tl -THD Eﬂ?ﬁ %’
Correct Answer :-Sea fish is a good source of iodine /q:rﬁ-sﬂ S TS BT Th 33T id %

19)
Question Stimulus :-

Gymnasts apply some coarse substance on their hands to / IELGIRRELC] ETQI-T N PO Hic UE'T'& GRIG] % :
* Produce heat between the palms / g3fedl & S ST IUF B & I
® Decrease friction /'EI'EfUT HH HA B ﬁ'l'E
® Increase friction / o Wﬁ & ﬁl’E
® Change friction from rolling to sliding / qYUT B dea- § Jul A EIET'I% & ﬁ'l'({
Correct Answer :=Increase friction /ﬂ'ﬁfUT Wﬁ » ﬁ"l"!,

20)

Question Stimulus :-

F il
T V11

isa / T B

® Rational number / ufag HE

® Whole number / T'Jf =T

® Natural number / WQT@H

® |rrational number / SMURAY T
Correct Answer :=Irrational number / 3UAg =T
21)

Question Stimulus :-

If I, m, n are lines such that, | is parallel to n and m is parallel to n, then, / 'Clﬁ Lm,n Qﬁ m %

Pl I,nP JHATAR & MR m, n P AR €, a1
® |and m intersects at a point / |amwﬁi§wuﬁ@3aﬂ?ﬁ§
® |, mand n are concurrent lines / |, m 3% n?lTITFﬂWTE%

® |is perpendiculartom / I, m & qHdd %
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® |isparalleltom / I,m%m%
Correct Answer :-lisparalleltom / I, m F IHIOR %

22)

Question Stimulus :-

As the value of ! &, increases from 0 to 90°, the value of sin g ./ Sa-
S rwrum 0@ 90° M AR TEA R, A sin © wIEN I

® Decreases / Ycdl %

® Remains constant / HHTH Igdl %

® Increases / dedl %

L] Tendstozero/?]?Tﬂ%Gﬁ'\rﬂlﬂT%

Correct Answer :-Increases / dadl %

23)

Question Stimulus :-

The gas released during the process of photosynthesis is / UPTRA TR B ufehar & qHY ﬁnjaa e %
* 0,
* CO,
* CO
* SO,
Correct Answer :-0,
24)

Question Stimulus :-

The small bulb like projection coming out of the yeast cell is known as the /E’Fﬂ?' PIRET A Bl ged DI GEIGY|
dTgY e G3{T HIIT SITAT SITdT %

] Eye/GﬁE

e Cutting / &d
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* Bud / &l

® Fragment / TS
Correct Answer :-Bud / &dl
25)

Question Stimulus :-

The force required to keep the object moving from rest is a measure of / d%] &1 fayrHTaRT A nfashe w9 &
1T STawae® 94 PT TP HIY &R § :

® Sliding friction / Tl Tvur

® Rolling friction /aﬁq L]

® Static friction / Wifge Tdor

® Fluid friction / XA o
Correct Answer :-static friction / Tfae Tor
26)

Question Stimulus :-

Major gaseous pollutant produced by the combustion of coal in power plant is / Tfed IO H P F @A P
R e g1 N+t wgue Iad gl &

* CO,
* CO
* SO,
* NO,
Correct Answer :-S0,

27)

Question Stimulus :-

Find the area of the semicircle of radius 7 m. / F=aT 7 Hiex & 3itfgwr &1 eorwa gra Hifvw)
o 49 m?/ a9HieR 2
o 22m?/22¥1ex 2
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e 154 m?/ 154%ftex 2
o 77m2/77 R 2
Correct Answer :-77 m?/ 77 #iex 2

28)
Question Stimulus :-

The groundwater gets replenished by the seeping of water into the ground. This process is called / ‘11[&[ Hod &

frama gRT Hiverd R & wrw ghar 31 $9 uihdT o $5d §
* Seepage / g
® Infiltration / 3d¥GG
* Aquifer / STAYT
® Transpiration / WG
Correct Answer :-Infiltration / 3G
29)

Question Stimulus :-

The following table gives the sales of Drinks manufactured by a company over the years.
Study the table below and answer the questions that follow: / 7 &t 7 Rl fFf Hu-t grr
g auf & Sanfea 9o ¥ fawg &Y gkt @1 R & 7 IRt B srvmE HY iR TR R U T Sw -

Number of different types of Drinks sold by a company over the year(in thousands) / Eﬂf?ﬁf
F IRE HU R AT voR & U & ey &1 9@ (39 )

Year/ |Pepsi/|Miranda/|[Fanta/|Coke/ [Sprite/Total/
a¥  Owil ARt e @le [@Ee @
2002 |75 144 114 (102 [108 [543 |
2003 |90 126 102 [84 126 [528 |
2004 |96 1114 75 105 |135 [525
2005 [105 |90 150 [90 |75 1510
2006 [90 75 135 |75 90 465 |
2007 105 |60 165 @45 120 1495 |
2008 115 [85 160 (100 [145 605 |
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What is the difference in the number of coke drink sold in the 2003 and 2007? 2003 3R 2007 § 9 Ry CacaRe i)
e # forae ofaR 82

® 24000

® 23000

® 35000

® 39000
Correct Answer :-39000
30)

Question Stimulus :-

log oq(0.01] , logyaa(001]
Evaluate 021201001 / 08 100 "|71h'l' 'FI'I:I'EaTIT:

Correct Answer :--1
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